MEAN‑VARIANCE CRITERION​​PRIVATE 
 (MVC)

Asset A dominates Asset B by MVC if and only if:

1. E(R)A > E(R)B and

2. (2A < (2B  [or (A < (B]

with at least one strong inequality holding in 1 or 2.

	Asset
	A
	B
	C
	D
	E

	E(RI)
	10
	8
	9
	11
	12

	(2
	10
	11
	10
	12
	11


a. Compare A with B: E(RA) = 10 > 8 = E(RB)

                     (2A = 10 < 11 = (2B
===>​​   A dominates B (B is assigned to the inefficient set)

b. Compare A with C: E(RA) = 10 > 9 = E(RB)

                     (2A = 10 = (2C
===>​​   A dominates C (C is assigned to the inefficient set)

c. Compare A with D: E(RA) = 10 < 11 = E(RD)

                     (2A = 10 < 12 = (2D
===>   No dominance

d. Compare A with E: E(RA) = 10 < 12 = E(RE)

                     (2A = 10 < 11 = (2E
===>   No dominance​

e. Compare D with E: E(RD) = 11 < 12 = E(RE)

                     (2D = 12 > 11 = (2E
===>   E dominates D (D is assigned to inefficient set)

· Efficient Set {A, E}

· Inefficient Set {B, C, D}

Therefore utilizing the entire set of attainable portfolios, the set of efficient portfolios (the efficient frontier) includes all portfolios assigned to the efficient set.







